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As long as a substance is homogeneous, the size or shape of the
sample doesn’t matter. The density will always be the same. This
means that a steel paper clip has the same density as a steel girder used to build a

bridge.

Density = Mass +~ Volume D= v

Use the density formula to solve the following problems. Show all work and the
answer must have the correct units. Remember that volume can have different
forms. A block of ice with a volume of 3 cm?® would be 3 mL of liquid after being

melted.
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1. What is th@f CO gas i{ 0.196 g gecupies a volume ok

D= M = 01969 _ 0.0019% 9, = 000X

vV |00 ML

Answer O-00d fs‘/m L

2. A block of woo d on each side has a mass o ‘. J
the block? (Hmnt, don't forget to find the volume of the wood.)
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= Scem x 3um XBem
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3. An irregularly shapgd “stone was lowered into a graduated cylinder holding a

© volume of watgregual to 2 ml. The height of the water rose to 7 ml. If the mass of
{25 g/what was itsdensity’ g
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sample of copper has a mass 0f'89.6 g_;What is the density of
\__w_/’)

4. AQ

copper?

DN=rm 3?(@%@ - 896 g/ 3
V 100> o

Answer 8.6 9 ém‘g

5. Silver has a density of 10.5 grams/cm® and gold has a density of

19.3 g/em’®. Which would have the greater mass, Sem? of silver or 5em’ of gold? |

Silver D =1054 /em3 M= Dx Vv = 10Sa/im3x Sem3= SQ.SjsflvV
Vv =9em3 %

qold - D= 1130 fun3 fa= DrV= 19.35/em3 xBem®= 6.5 ok
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6. Five mL of ethanpl-has a mass of 3.9 g, and 5.0 mL of benzene has a mass of 44
g. Which liquid is@

Edanol m=345 D =fL_39% _ 078 3g/, Ehenel
U"" S«DmL' \/ S»DW‘L—

Benzane T/::;L’;gm(,, Dﬁ f-H — 8'§3/ml_ Penzere
“ 5.0ml

. ! Answer %{ NZE4N-€
8,@5/-“\)_ Renzene > O»"i%fymc etharol




7. A sample of iron has the

sare di

ensions of 2 cm x 3 ¢m x 2 cm. If the mass of
this rectangular-shaped object i§ 94 g} what is the density of iron?
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